Acts 27:39



 is the transitional/continuative use of the postpositive conjunction DE, meaning “Now” plus the temporal conjunction HOTE, meaning “when.”  Then we have the predicate nominative from the feminine singular noun HĒMERA, meaning “day” plus the third person singular aorist deponent indicative from the verb GINOMAI, which means “to become: it became.”


The aorist tense is a constative/historical aorist, which views the entire past action as a fact.


The deponent middle voice is middle in form, but active in meaning with the subject (the situation of daylight happening) producing the action.


The indicative mood is declarative for a simple statement of fact.

This is followed by the accusative direct object from the feminine singular article and noun GĒ, meaning “the land.”  With this we have the negative OUK, meaning “not” plus the third person plural imperfect active indicative from the verb EPIGINWSKW, which means “to know, understand, or recognize.”


The imperfect tense is a descriptive imperfect of a continuing action in the past.


The active voice indicates that no one on the ship could produce the action.


The indicative mood is declarative for a simple statement of fact.

“Now when it became day, they did not recognize the land;”

 is the adversative use of the postpositive conjunction DE, meaning “but” plus the accusative direct object from the masculine singular noun KOLPOS and the adjective TIS, meaning “a certain bay.”
  Then we have the third person plural imperfect active indicative from the verb KATANOEW, which means “to notice, observe: they did observe.”


The imperfect tense is a descriptive imperfect of a continuing action in the past.


The active voice indicates that the people on the ship produced the action.


The indicative mood is declarative for a simple statement of fact.

This is followed by the appositional accusative direct object from the masculine singular present active participle of the verb ECHW, which means “to have: having.”


The present tense is a descriptive/aoristic present, which describes a fact, a state of being, or the fact that a thing is or has something.


The active voice indicates that the bay produced the state of having something.


The participle is explanatory, giving a further or additional description of the bay.

Then we have the accusative direct object from the masculine singular noun AIGIALOS, which means “a shore or beach.”

“but they did observe a certain bay, having a beach,”

 is the preposition EIS plus the accusative masculine singular relative pronoun HOS, meaning “onto which” and referring back to the masculine singular noun AIGIALOS (= beach).  Then we have the imperfect middle indicative from the verb BOULEUW, which means “to reach a decision about a course of action: resolve, decide 2 Cor 1:17; Acts 27:39; Jn 11:53; 12:10.”


The imperfect tense is a descriptive imperfect, which describes what happened in the past.


The middle voice emphasizes the subject’s personal responsibility in producing the action.


The indicative mood is declarative for a simple statement of fact.

This is followed by the conditional particle EI, meaning “if,” and used with the optative mood in the verb to form “the protasis of a fourth class condition.  It is used to indicate a possible condition in the future, usually a remote possibility (such as, if he could do something, if perhaps this should occur).  There are no complete fourth-class conditions in the NT. Sometimes the conditional clause is mixed, with a non-optative in the apodosis (e.g., Acts 24:19).  On other occasions, no apodosis is to be supplied, the protasis functioning as a sort of stereotyped parenthesis.  This usage is quite rare.”
  With the particle EI we have the third person plural present deponent middle/passive optative from the verb DUNAMAI, which means “to be able; to be possible.”


The present tense is a tendential present for an action that is proposed but not yet taking place.


The deponent middle voice is middle in form, but active in meaning with the subject (the crew) producing the action.


The optative mood is a conditional optative as part of a fourth class condition, which indicates that the action is remotely possible, but unlikely.

Then we have the aorist active infinitive from the verb EXWTHEW, which means “to run or drive ashore: to beach, run ashore, a mariner’s technical term Acts 27:39.”


The aorist tense is a constative/futuristic aorist, which views future action in its entirety.


The active voice indicates that the crew of the ship would produce the action.


The infinitive is a complementary infinitive, which is used after the verb BOULEUW to complete its meaning.  Note that this infinitive goes with the verb BOULEUW and not with the verb DUNAMAI.  Thus the translation “they resolved to beach the ship.”

Finally, we have the accusative direct object from the neuter singular article and noun PLOION, meaning “the ship.”

“onto which they resolved to beach the ship, if they were able.”

Acts 27:39 corrected translation
“Now when it became day, they did not recognize the land; but they did observe a certain bay, having a beach, onto which they resolved to beach the ship, if they were able.”
Explanation:
1.  “Now when it became day, they did not recognize the land;”

a.  Luke continues his description with what happened after breakfast and after the cargo of wheat had been thrown overboard to lighten the ship.  At this point it was definitely well after sunrise.  In verse 33, Luke used the phrase “Now when the day was about to happen,” which indicates the morning nautical twilight.  This period of time only lasts 20-30 minutes and then with sunrise, you have full daylight.  It would have taken longer than thirty minutes to feed 276 people and have them eat until they were all full and to haul the cargo up from the below decks and throw it all overboard.  We are probably looking at hours for this to be done rather than minutes.  If the sun rose between six and seven o’clock in the morning, and it took a couple of hours to lighten the ship, it would still be only eight to nine o’clock in the morning and the clouds/fog would still not have lifted from the heat of the sun.

b.  From the sea the contour of the land (that is, the shape of the hills, peaks, mountains) is how sailors could tell where they were.  However, considering the fact there was still a storm or at least the tail end of the storm, this means that there would have been a heavy cloud cover over the island, obscuring the view of the contour of the land.  This would be especially true in the early morning, when the clouds and/or fog would be low on the land.  Thus the people on board the ship did not recognize the land.  It is likely that all they could see was the shoreline with the clouds or fog down to 500 feet above sea level.

2.  “but they did observe a certain bay, having a beach,”

a.  In contrast to not being able to make out where they were or what island this was, the people on the ship could see that they were in a bay and that there was a beach on part of that bay.


b.  This further indicates the low cloud cover, making nothing visible below the clouds except the outline of the bay and beach.  None of the contour of the land could be distinguished.


c.  This beach was their deliverance, since they had somewhere to attempt to “beach” the ship, so that the people could get safely ashore, rather than be pounded by the waves against a rocky coast with nothing but jagged, rock cliffs.


d.  Paul’s God had led them to a place of safety, a place where they could be delivered by Him.


e.  This bay has been identified as what has now been named “St. Paul’s Bay.”  “St. Paul’s Bay is some distance away from the grand harbor of Valletta, with which some of them [the sailors] would have been familiar.  But they noticed a creek with a sandy beach, and decided to try to run the ship aground there.  The combination of this creek with the rocks (verse 29) and the place between two seas (verse 41) confirms the tradition the tradition which locates this incident in St. Paul’s Bay.”


f.  “The ship had been driven just past Koura Point on the northwest slope of Malta, this point forming the east boundary of what has since been called St. Paul’s Bay.  Today the water is twenty fathoms deep at this place, and in a storm breakers beat upon this point.  The west side of this bay shows a decreasing depth.  After passing the Point breakers would sound also from the opposite direction but in time to allow casting anchor.  The English government survey states that anchors will hold here.  On this western side of the bay there lies the island Salmonetta, so that from the vessel it would look like part of the mainland.  But this west coast is made up entirely of high rocks, against which it was hopeless to beach the ship.”

3.  “onto which they resolved to beach the ship, if they were able.”

a.  The ship-owner and captain of the ship resolved or decided to beach the ship on the beach, which they could now see from the deck of the ship.  We are not told how far away from shore they were, but it was probably more than a half-mile and probably less than three miles.  Whatever the distance, it was close enough for them to see and far enough away for them to have time to maneuver the ship toward the beach.


b.  The decision to beach the ship was not made lightly.  The following factors had to be considered:



(1)  The lives of the people on board the ship were most important.  Therefore, the captain and crew of the ship had to get as close to that beach as possible for people to be able to swim safely to shore.



(2)  If it was possible to beach the ship rather than crash it on a rocky shoreline, then it might be remotely possible to save the ship.  The storm might suddenly cease and the ship might be saved.


c.  The fourth class condition indicates that the captain and crew of the ship considers their success a remote possibility.  This means that they didn’t think they could really save the ship and they didn’t think everyone on board would survive.  In other words they considered it a miracle if both things happened.  It is likely that Paul reminded them at this point of the promise of God that God had granted to him all those sailing with him and that the hair from the head of not even one of them would perish.
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